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#include <stdio.h>
#pragma warning(disable:4996)
int main()

{

Palebuse Lok

int kingaku;

Int en;

Int sen;

printf("kingaku="); o AEBD
scanf("%d", &kingaku); =L Egan oy
sen = kingaku/1000; | _— 7%
en = kingaku%1000; - anpAL=iips)
printf("senensatsu: %d mai¥n", sen);
printf("kozeni: %d en¥n", en);

return O;
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kingaku=13500
senensatsu: 13 mai

kozeni: 500 en
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printf("kingaku=");

()

scanf("%d", &kingaku);

(AFIX)

sen = kingaku/1000;

en = kingaku%1000;

printf("senensatsu: %d mai¥n", sen);

()

printf("kozeni: %d en¥n", en);

return O; 7
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I kingaku scanf("%d", &kingaku);
sen = kingaku/1000;
en = kingaku%1000;
o en @

printf(""senensatsu: %d mai¥n", sen);

printf("kozeni: %d en¥n", en);

sen




BT —F EFEVNSE T 5

BET—Y < SZENET — 4
* B « N E DB TE]
* BRT AT - BEE 1 0HIET
« E|DE TN 1)
THINET 0
3
1) .
0
3 4778
-1
35 —10
170 1250
~10 1278748623
—-1250 —4563759398
2. 1908772
0. 000178



5 — 5 ST AT — SO

T —S (int)
« —32767HM5+32767FXTOEHBHE DI
« FLEETO [EEE] TIFHELN

« SFE)/INEIT — 4 (double)

c FBEMN1IOMIC, 10D0-37FNS510D+ 3
7 |/EX TODIE EEDEHIZEN

« FTOD [EE] E(FED

10



BT — 5 CTBT —F DIEL

5.

Palebuse Lok

225 |int kingaku; double teihen;
B= |Inten; double takasa;
AT |scanf("%d", &kingaku); scanf("%lf", &takasa);

CC
LL
ot

printf("kozeni: %d en¥n",
en);

printf("takasa: %f ¥n", takasa);

AN |UAFEE(C(E, + - % /% |MEE&ECE, + - * /ZF
e (85 >
F|<R | en = kingaku%1000; z = fmod(x,y);
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#include <stdio.h>
int main()

int n;

printf( "n=?");

scanf( "%d", &n );
printf( "n—%d¥n" n);
return O;

n=7100
n=100
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Palebuse Lok

#include <stdio.h>
#pragma warning(disable:4996)

T EUL (& T%d]

INt N;

printf( 'h=2"

scanf( ' cVh‘" )
printf( "n=% ¥n n);

return O ;
}
n=7100
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#include <stdio.h>
#pragma warning(disable:4996)

int main() - U< (8 [%d]

=1

int n;
printf( "n=?");
scanf( "%d-"

printf( "n

return O;
}
n=7100
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#include <stdio.h>
#pragma warning(disable:4996)

int main() etk

{
int kingaku;
int gohyaku, hyaku, gojyu, jyu, go, ichi;
Il /4
printf("kingaku="); / Ajj nBﬁ

scanf("%d", &kingaku);
gohyaku = ('kingaku % 1000) / 500;
hyaku = ( kingaku % 500 ) / 100; =+ E51I[{ 4
gojyu = ( kingaku % 100 ) / 50; / DTEDBﬁ
jyu = ( kingaku % 50) / 10;

go = ( kingaku % 10) / 5;

ichi = kingaku % 5;

printf( "1 B = %d¥n", gohyaku );
printf( "B = %d¥n", hyaku );
printf( "R 1T = %d¥n", gojyu );
printf( "+ = %d¥n", jyu );

printf( "4 = %d¥n", go );

printf( "—F = %d¥n", ichi );

return O;
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#include <stdio.h>
#include <math.h> S
#pragma warning(disable:4996)

int main()

{

int gankin, nensu, ganri;
double nenri, r;
printf("gankin=");
scanf("%d", &gankin);
printf("nenri=");
scanf("%lf", &nenri);
printf("nensu=");
scanf("%d", &nensu);

r=1+nenri * 0.01;
ganri = (int)(gankin®*pow(r, nensu)); /
printf("risoku=%d¥n", ganri - gankin);
return O;

S Eiib)
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ganri=gankin x (1+nenri) "€
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ganri = (int)(gankin*pow(r, nensu));
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ganri = (int)qgankin*powkr, nensu));
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(int) MAEINIGS

ganri = (int){gankin*powkr, bensu));
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#include <stdio.h>
int main()
{
doubler;
r=1/2;
printf("r = %f¥n ", r);
}
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r =0.000000
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#include <stdio.h>
int main()
{
doubler;
r=1.0/ 2.0;
printf("r = %f¥n ", r);
}

[1/2]1 & [T1.0/20] (&, BKHED

r =0.500000
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